
SAP ABAP table /BEV1/EMLGBWDP {Empties Movement Account Customer}

_BEV1_EMLGBWDP

MANDT [CLNT (3)]

KTOINH [CHAR (10)]

ERDAT [DATS (8)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

LFDNR [NUMC (15)]

MATNR [CHAR (18)]

KUNAG [CHAR (10)]

KUNWE [CHAR (10)]

KUNRE [CHAR (10)]

KUNRG [CHAR (10)]

PARVW [CHAR (2)]

RECHNR [CHAR (10)]

RECHPOS [NUMC (6)]

VRKME [UNIT (3)]

MEINS [UNIT (3)]

VBELV [CHAR (10)]

POSNV [NUMC (6)]

VGBEL [CHAR (10)]

VGPOS [NUMC (6)]

AUBEL [CHAR (10)]

AUPOS [NUMC (6)]

BELW [CUKY (5)]

HAUSW [CUKY (5)]

KURST [CHAR (4)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 /BEV1/EMLGBWDP-KTOINH = KNA1-KUNNR 

0..N

0..N

 /BEV1/EMLGBWDP-KUNAG = KNA1-KUNNR 
0..N

1

 /BEV1/EMLGBWDP-KUNRE = KNA1-KUNNR 0..N

1

 /BEV1/EMLGBWDP-KUNRG = KNA1-KUNNR 

0..N

1

 /BEV1/EMLGBWDP-KUNWE = KNA1-KUNNR 

0..N

1

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 /BEV1/EMLGBWDP-MATNR = MARA-MATNR 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)] /BEV1/EMLGBWDP-MEINS = T006-MSEHI 0..N

1

 /BEV1/EMLGBWDP-VRKME = T006-MSEHI 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)] /BEV1/EMLGBWDP-BELW = TCURC-WAERS 0..N

1
 /BEV1/EMLGBWDP-HAUSW = TCURC-WAERS 

0..N

1

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)] /BEV1/EMLGBWDP-KURST = TCURV-KURST 0..N

1 TPAR

MANDT [CLNT (3)]

PARVW [CHAR (2)]

 /BEV1/EMLGBWDP-PARVW = TPAR-PARVW 
0..N1

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 /BEV1/EMLGBWDP-SPART = TSPA-SPART 

0..N

1

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 /BEV1/EMLGBWDP-VKORG = TVKO-VKORG 

0..N

1

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 /BEV1/EMLGBWDP-VTWEG = TVTW-VTWEG 

0..N

1

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 /BEV1/EMLGBWDP-AUBEL = VBUK-VBELN 

0..N

1

 /BEV1/EMLGBWDP-RECHNR = VBUK-VBELN 

0..N

1

 /BEV1/EMLGBWDP-VBELV = VBUK-VBELN 

0..N

1

 /BEV1/EMLGBWDP-VGBEL = VBUK-VBELN 

0..N

1

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 /BEV1/EMLGBWDP-AUPOS = VBUP-POSNR 

0..N

1

 /BEV1/EMLGBWDP-POSNV = VBUP-POSNR 

0..N

1

 /BEV1/EMLGBWDP-RECHPOS = VBUP-POSNR 

0..N

1

 /BEV1/EMLGBWDP-VGPOS = VBUP-POSNR 0..N

1


